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_ Part - I11
MATHEMATICS, Paper - II (A)
(Algebra and Probability)
(English Version)

Time : 3 Hours Max. Marks : 75

Note:: This question paper consists of three Sections A, Band C.

SECTION A S T s = 20
I.  Very Short Answer Type Queétiﬂns. '
1)  Answer all questions.

1) Each question carries two marks.

Bl
T+i

1.  Write the conjugate of the complex number,

2. Ifz=-1, z,=—1i,thenfind Arg(z,,z,).

3. If 1, w, w* are the cube roots of unity, then prove that

(a+b) (aw-l—wa) (aw“‘} + bw):a3 + B,

4. If ¢, f aretherootsof ax®+ bx + ¢ = 0, then find the value of

a’+ f#* intermsof a, b, c.

5.  If the product of roots of 4x° + 16x% - 9x —a =0 is 9, then

find a.
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Find the number of ways of arranging the letters of the word

- SINGING, so that they begin and end with .

If 120 el -12C3r_5, then find 7.

Find the set of values of x for which the binomial expansion of

(3 - 4x)"" is valid.

Find.the mean deviation from the mean for the following discrete
data:

B, ¥, 10, 12, 13, 4, 12, 18

8 coins are tossed mmultanenusly Find the probability of gettmg
6 heads.

SECTIONB ¢ - 5 X 4=

[I. Short Answer Type Questions.

1)

ii)

i

12,

13.

Attempt any five questions.

Each question carries four marks.

: 3 /
H Exfiye= T , then show that x* + y* = 4x-3.
24+Cos0 + 1Sin0 Sy kel -3

x+ 2
2x° +3x + 6

[f x € ¥, then determine the range of the expression

[f the letters of the word MASTER are permuted in all possible ways
and the words thus formed are arranpod in the dictionary order,
then find the runk of the word RISMAS
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